Calculus Log and Exponents Practice #2

Solve:

2. 3F+i-g7

3. InX=8.5

4. X =logg 234

5. log, (2Xx+ 5) =1.3

6. 1/5e* =22

Solve for X in terms of k:

8. 2In(x-1)=k

Solve:

9. logio (X —3) +logio (X + 8) = logo (26)

10. 2 + logs (X — 12) = logs (2X — 1)

11. 21In (2X) —In (3) = In (8X — 9)

12. log, (2X + 1) + log, (X + 32) =5

13. NX=-4)-InX=1)+In3=In(X-238)

14. 2'093 (X—3) = |0939

Solve for X in terms of k:

15. |Ogg (X + 8) =3 |Og3 k

16. In(@2x+k —-Inx=1



Answers: Calculus Log and Exponents Practice #2

Solve:
1. €' =33 XIne=In33 X = In 33 X = 3.497
2. 3¥+l=7 2X+1)In3=In7 2X+1=In7/In3 X = 0.3856
3. Inx=85 e =g X = 83 X = 4914.8
4. X =loggs 234 8" =234 XIn 8 =1In234 X = 2.623
5. log, (2X+5)=1.3 2'9@+5 513 2X + 5 = 2.46229 X ="1.2689
6. /5e* =22 {5 %% =22 (0.5 X) tae = In (%) X = 4.5726
Solve for X in terms of k:
7. & FZxel"2=k e? =k 2X1In (e) =Ink lenTk
8. 2In(XX-1) =Kk en -1 = gl X —1=+ek x=Vek +1
Invalid solutions are shown struck out:
9. logio (X — 3) + logio (X + 8) = log1o (26) (X + 8)(X—5) = 14 X=5 er 10
10. 2+ logs (X — 12) = logs (2X — 1) 25(X —12) = 2X — 1 X =13
11. 2In(2X) —In (3) = In (8X — 9) (2X)? = 3(8X — 9) X=1.50r4.5
12. log, (2X + 1) + log, (X + 32) =5 (2X + 1)(X + 32) = 32 X=0 er 325
13. NX=-4)-InX=-1)+In3=In(X-238) %zx—S X=10 er2
14. 2logs (X —3) =logs 9 xX-3)?=9 X=6 er0
Solve for X in terms of k:
15. logs (X + 8) = 3 logs K logs (X + 8) = logs k* X+8=Kk? x=k¥®-8
16. In@X+k —Inx=1 |n(#)=|ne 2x;k:e

2X + k = ex k=X(e—-2) = k




